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Where did he place  — X377 77772 7930 79307 K238 179 722 X997 SVAUN
the syauR, on top of the wagon; but the wagon was covered

OVERVIEW
There i1s a dispute between >"w7 and Moo how to explain the entire discussion
regarding the >"777 under the m2av.

nvoIN cites °"wo and asks:
=19 91299 920 190 NNRY NNIM NNPN NN NYIYAY TNYT NPYDT YU WS

>'"'w9 explained that the X713 assumed that the wagon was covered; but it is
astounding, why did the X3 assume so?!

mooin asks an additional question:
= A2HYT RAIN 1NY NIN NI SYAVN 19209 DII9DN YI3T MY

And furthermore, all the texts read; ‘where did he place the >y2uX on the top

of the wagon’; the question is -
=300 NNMPN NYIY RN NIN 9139190 7D 1IN KXY RNOPNAN TN SYAVN 99N I 7N

Why did the X7 need to mention "yauN', in this question; the X7 should
have only said/asked, ‘but the 7793¥ is covered’ without mentioning the *yavx?

A final issue:
- SN X972 19709) D990 5929 SNNNITA DYDY 4190907 Ty

And additionally, previously "1 is 07 that 27 1s discussing '8nX972'; however

all the texts read 'Snn X972’ -
- 3YW9AY 1199 MY P2 $IYN PYUHA PPN 933 7T0N09) 299

And even according to their (s""v7) X093 the text (XnX172) does not mean

‘between the rows’, as "1 explained; rather it means ‘in the rows’ (not ‘between the
rows’).

' ('o102) K 7"72.
2 This means that it had a bottom in which items could be loaded and carried.
3 According to >"w1 the X3 now assumed that the 773y was covered, if the 793w was covered, the X m3 should just
ask how can underneath the 793y be a 1"77 if the 793y was covered. There is no relevance in prefacing the question
by saying that he placed the *¥auR on the 773y,
4 The w"w1 amends this to read 0737 (instead of 1°0737).
5 X797 (or RNXIT) means ‘row’.
6 Xnn X717 means ‘bottom row’.
7 The w"w" amends this to 1073 (instead of ano 7).
8 See xnXx72 7" "0
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In summation: Moon asks on >"w7; a) Why does the X713 assume that the M2y were covered; b)
why mention that the *yaux were placed on the 773y (when asking X°77 7721 723 XY), ¢) the X0
1S XNN X772 not XNX172 (as *"w" has it), and XnNX172 does not mean between the rows.

mooin offers a different interpretation:
= PIIYNI NIV Y1920 INNN NI UNIN 12929 WOV 19D DN 199299 NN

And the n'"'9 prefers the s'n''9 explanation that Xnn X972 means the first row of
WP -
- 7a%3 0ONHNNN DIYIP RIN NIYN HY NN NY Pr 1YY

That as of now he only placed the lower set of 2>29p on the 793y -
= 1055 W97 MTIVYN )22 NI YWIY NDID NNIPN NINRY

So that the 773V is not entirely covered, for there is space between the rows, as

the X713 continues to explain -
= MNIVYN PAY PIND DNDI NYYITYI NNIY NIV 9701V YaN

However once he set down the second and third rows of the 2w p on top of the

first row, the airspace between the rows of 2°wv7p closed up -
= UNN NIV N Y DT 192U D239 NNY DI PN NIV

For they could not be that precise and place the 277 one on top of the other

exactly equal -
- 11193525 %3 DY NYINA 1199 9NN D9 NIV 1Y IND VDA NN NN D NON

But rather each row of 2°wp protruded outwardly, until the entire airspace

was closed like a half brick on top of a full brick.
=215 9N N1 NYIYT NIMN T°99)

And the X713 asked (on this answer of Xnn X172), ‘how long was the 1723y, etc. -
= 1255N) Y9917 ©290 MY )NINNN N0 KD NNHYNRI NIV 1PN 919995

Meaning it could not be a 2'"777 underneath the 793V, even when only one row

of ow1p was paced on the 1193y as the X3 continued and explained its question -
= 137953 991 NON 99NRP NIT 22 HY N 9¥IOUNI NIND 29 9IN 2IWN)

And X172 21 answered, '"pauRa’, and even though the X mx did not say, 'N®N',

? This is in response to the contradiction in 27 where he ruled that a 2"77 cannot be covered and also stated that
under the M73y was considered a 2"7".
19 When 27 stated 2" o nnn that was only when the bottom row of 2w1p was placed on the 773y; for there was
sufficient space between them to avoid 7125.
1 Bricks are placed in a staggered manner one on top of the other. The bricks of each row are staggered from the
bricks in the rows below and above it.
12 The width of the o°w1p was one and a half nny; three o°w1p take up four and a-half nx of the five nmR of the
23v;, there remains one-half X (3 onov) for the two spaces, there is only one and a-half nov between the o°w1p, in
which case we say 737, so there is no airspace.
13 Ordinarily when the X713 retracts a previous assumption and has a new interpretation it states, 'R?X'. In this case
even though the X713 did not write 'X9', we still must assume that there is a retraction. See shortly in this ndoIn.

2

TosfosInEnglish.com



"PAuR 7"7 '01N X,AX N2w .7"02

nevertheless we need to say that X175 27 retracted from what was previously assumed -
= 7YPNN D290 MY NN XY ARNN X7 I1DAN NHIYN DY DIVID YIYI INTIY

For certainly when there are 2>wap on the 79y even if it is the lower row only,

there is no 7'"'719 underneath the 7%3v on account of 127 (they are too close to each other) -
= NT99) SYAVN NON NDIYN DY PRY SYIVNI D290 MY MHNT 9IRP 9 NIN

Rather when did 21 state that under the Mm%y is a 9'"79 by "pawR', meaning

there are only >»auRX on the 1793y -
= 120X 11D 999 799 MYAL PY 19217 JNPYNI 2IWA DD DINY MY SYIAUN VI

The meaning of >»auR is two pieces of wood, punctured at both ends; they are

pierced similar to a ring, and therefore they are called >yauR -
- 15959ANYY 11539 NANTY ADIYN 1Y 2IWA PIIYD POITIPD Y PN 12NN

And they inset these two pieces of punctured wood on the upright poles, which

were on of both sides of the wagon, to the width in the front and in the back, of

the wagon
- DYWIPN 19 NV »1D

In order that the 2>w=p should not fall of the wagon.

mooin explains why the X723 did not say 'Rox'": 6

= NON 919 079N 797 PR D5 XN 991 NOY 299
And since no X7%X was mentioned previously (by the answer of Xnn X772), it

was merely X137 Rano, therefore it is not the custom of the X923 to say ‘R>N’.

Moo continues explaining the X 73:
= AYIPT NAIN 1N NNIN NI SYIVN 79999

And the X713 asked; where did he place the >¥2uX; on top of the 723y -
= 17515959975 195019 MYAV SYAVN 11157 P3N DIV DY DIVIPN 1MV INN YIT*O

The explanation of the question is; after they put all the 2> on the 723y, they
place upon them the >»auR meaning the ringed woods and the brackets, as I

explained that they were placed -
= NN NP1 NYIY 925 INY DIYIPN RHNOY 273 NYINNRDY NI9Y

In front and in back of the 193v in order to contain the 2> so then the %3y
is already covered with the o>wp -

14 >y3ux is similar to the word nvav (a ring). The holes at the end of the wood looked like the holes in a ring.
15 The poles (107177) and the wood (*vavR) were put together as a framed bracket to ensure that the 2w p do not fall
off the m?3y. The *yaux were placed to the width of the wagon (perpendicular to the direction of travel) both in front
and in back.
16 See footnote # 13.
17 See footnote # 15.
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- NOD NPN N9IY NN 18X N9 13509) N
And we are not 7% that the 7% itself is covered as *"wn taught, but rather we

are 07 that the wagon is covered by the owp; since we already placed the >vavx that

means the 0°w1p were already all loaded -
— DTN TNV 9N YN

And the X3 answers, Y812w said; ‘with pegs’ -
= DPYIIOTI NDIYN ANIIY 1P22WUNN DAIPI DINY IMN XD NIND 29 9IRPT SYAVN ¥IT9

The explanation of s™Xw answer is that the "vauR which X375 29 said, are not
those pieces of punctured wood which are placed to the width of the 723y to

contain the o°wp as I explained -
- JPWNT 23V JIIN 19293 19 I9Y DY91IN DINY 2 WD NN NN

Rather these pegs mean two long pieces of wood which are also punctured at

both ends -
= I9AYN TINY POITHPN IY PIM)

And we place them on the poles to the length of the 793y -
= D29INN 19 NHYNY 0NN INPY 27D DIVWIPN 13 DINY NN Dy

And on those woods we place the 259 in order that the 2w p should be

higher than the wheels -
- 191935307 YNNIV NTIYD AN HY SYAVN 133 PIVUM

And these m7n° are like the "»awN which are placed to the width of the m2ay,
after the loading of the owp -

mooIn responds to an anticipated difficulty:°
= NIN 9INRP NY 2ININD 29 9927 W91 ON 29 19N ININYY 29

And since YR is merely explaining the words of X775 29, therefore he does
not say 'S”N' —

mooIn offers a dissenting view:
= 22N3115 297 NMPUN N2 9177 Y91 ININ 13%29 YaN

18 This implies that the 793y was constructed in a manner that it had a floor or bed to place things on them.
19 There were two types of 0°21p1 O°%¥; one (M7°n°) which were placed (earlier) to the length of the 793 (in the
direction of travel), which served as a base on which to place the o'w1p so they will be above the wheels (allowing
the wheels to turn freely), and the other (°*vavX) were set up (later) to the width of the 773y after all the owp were
loaded to serve as a bracket to prevent the 2wy from falling off the 723y,
20 Seemingly we are now changing the answer from the *yauX of X373 27 (which are placed after the loading of the
ow1p), to the MmN of YW (which are placed before the o*w1p are loaded). Here a name is mentioned (X375 27), so
why does not the X3 say ‘Xox’?
2 5xmw is saying that X375 27 never meant the latter *vauR, but rather the earlier n17°n° (which are also called *vavx).
22 See "1 who writes, 'R372 27 772
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However the 11''9 explains that the X72) is retracting the answer of X775 39, and
replacing it with the answer of HXnw.

mooIn disagrees:
= 3RON 9INRP NI NN PN

And the n"1 11’0 does not seem to be correct, since the X3 did not say 'NoN'!
$NPPL INNY 1Y ZHPAON NINT MY PR NNIT NIND 29 NIV 1D NN TIY)

And furthermore how did X175 29 err, for it is not usual to place the >»auR on
the wagon until after the loading of the o>wp at which time the 773V is certainly covered!

SUMMARY

The *yavR of X370 27 and the M7 of PRww are both referring to the punctured
wood which are placed as a base to the length of the 773 on which to place the
2w p; however initially we mistakenly assumed that X172 27 meant the woods
which we placed (after the 0w p were on the 723¥) to the width of the 7%y, as a
bracket, to prevent the 0w p from falling off the 79ay.

THINKING IT OVER

According to moown that underneath the Mm%y is considered a 1"71 (according to
X)) when the M7 are placed on them (before the owp), let us say even
simpler that the under the 23y is a 1"117 even before the M7°n° are placed on them,
why mention m7°n°?!

23 See footnote # 20.
24 ®1773 21 could not have meant the *yavx which are put on later, for he certainly knew that at that point the 723V is
771, therefore we must say that X372 27 meant the M7 n° of HX 1w, but he referred to them as *¥avx (since they also
have holes).
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